Question 1

If (tan"'x) 2+ (cot™!x)*

517> 3 ’
= —— then x =~
3 nx

a) 0 GN—>2

d) —3



Answer (b)

Solution:
Whenx =0




[tan~"'(~1)]* + [cot™(~1)}°
Ing, W

_ (2 i s
_(4)+(4 16+16 16




Question 2

The value of

n 1 _.a n 1 _.a
tan|—+ —-cos |+ tan|- ——cos | =?

4 2 b 4 2 b




Answer (a)
Solution:

1 a |
Take O = Ecos_l— =0 = cos~1—

b

d

20 = -
COS b

1+tan9 1 —tanb
S tanB 1+tanB




1K tan?0 + 2tan® + 1 + tan?6 — 2tan®
E 1 — tan26

_20+w@n’®) . 2b
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Question 3
210

3
and cos™'x—cos ly =

then (x,y)=7?

a) (1, %) c) (—1,1)

If sin"'x+sin!'y =
1L}

b) (% 1) d) (1,1)




Answer (b)
Solution:-

|

Given COsS "X — CoS

sin"ly—sin"!'x = -




VAL

15
g

Alsosin~ 'y + sin~
Adding 2sin" 1y = T_, sin~'y =
T

y = sing

]
2

210

1L o g il
(ot

wheny =1, sin"!y + sin™







Question 4

Let (x,y) be such that

sin~'(x) + cos—'(y) + cos™'(2xy) = s

then (x,y)lies on
a) the circle x* +y% =1

b) liney =X




o) x*-1DF*-1) =0
d) (4x* —1)(y*—1) =0

Answer (a)

L]
Solution:- sin™*(x) + cos™'(y) + cos™ ' (2xy) = 3

m
cos™ty + cos T (2xy) = o~ sin” x

= cos 1x




1x —cos™ 1y

~ cos~1(2xy) = cos™




Squaring on both sides

x?y* =1 -x*)(1—-y*)

x< +y e




Question 5

If sin”! (tan ;—t) — sin”

a) 2
b) 3
C)4
d) 5




Answer (C)

Solution:- GIiven equation

L

=sin 1(1) — o sin1

N

3
X







Question 6

sin 1 [mt {sin_l ’¥ + cos ! ? + sec‘lﬁ}] =7

c)0

n
a o
)4

YA Y[ A




Answer (c)
Solution:

4 o

22




sec™ 1 /2 = 45°

-~ given expression is equal to

sin ![cot( 15° + 30° + 45°)]
= sin"1[cot 90°]

—sin~10=0




Question 7

The value of cosec*(cot™ 3) — sec*(tan™"2) =?

a) 10

b) 7
C) 2
d) 5




Answer (d)

Given expression

= [1+ cot*(cot *3)] - |1+ tan?(tan2)]

= [1+ (3)*] - [1 + (2)*]
=10 ~-'5=5




Question 8

J1+22 —V1— 22

If tan?
Ji+22 +V1— 22

I = a then x*

a) sina
b) cos2a

C) cosa
d) sin2a




Answer (d)

Solution:-

From the given relation, we have

V1 +2a2 — V1 — x?Z
V1 +x2 + V1 — a2

—tana

2V1+x?2 14tanc
2\/1—.‘1’2 1 —tan «




(by componendo and dividendo)

1+x* (cos o+ sin «)*
1—x2 (cos o — sin o)?2

1+x2_1+sin20c
1—x2 1-—sin2«




2 2

2x2  2sin2

—x2 = sin2

(Again by componendo and dividendo)




